
MATHS

BOOKS - TARGET MATHS (HINGLISH)

APPICATIONS OF DEFINITE INTEGRAL

Classical Thinking

1. Area bounded by the curve , X-axis and

ordiantes x=1 and x=4 is

A. 64 sq. units

y = x3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_o9hHSaYY3qzq


B. 27 sq. units

C.  sq. units

D.  sq. units

Answer: D

Watch Video Solution

127
4

255

4

2. Area bounded by the curve xy=c, X-axis between

x=1, x=4 is

A. c log3 sq. units

B. 2logc sq. units

https://dl.doubtnut.com/l/_o9hHSaYY3qzq
https://dl.doubtnut.com/l/_v8MiGAXRf8iE


C. 2c log2 sq. units

D. 2c log5 sq. units

Answer: C

Watch Video Solution

3. Area under the curve  between x=0

and x=4 is

A.  sq. units

B.  sq. units

C. 8 sq. units

y = √3x + 4

56

9

64
9

https://dl.doubtnut.com/l/_v8MiGAXRf8iE
https://dl.doubtnut.com/l/_lG0HWLslQ7N8


D.  sq. units

Answer: D

Watch Video Solution

112

9

4. The area bounded by , X-axis and

the ordinates x=2, x=4 is

A. 2

B. 4

C. log 2

D. log 4

y = 1 +
8

x2

https://dl.doubtnut.com/l/_lG0HWLslQ7N8
https://dl.doubtnut.com/l/_DftKt9ltrLpn


Answer: B

Watch Video Solution

5. The area bounded by the curve y = log x, x- axis

and the ordinates x = 1, x = 2 is

A. log4 sq. units

B. (log4+1) sq. units

C. (log4-1) sq. units

D. log 2 sq. units

Answer: C

https://dl.doubtnut.com/l/_DftKt9ltrLpn
https://dl.doubtnut.com/l/_1B9zrXG7ucj1


Watch Video Solution

6. The area of the region bounded by the curve y =

sin x between the ordinates  and

the X-axis is

A. 1

B. 2

C. 3

D. 4

Answer: A

W t h Vid S l ti

x = 0, x =
π

2

https://dl.doubtnut.com/l/_1B9zrXG7ucj1
https://dl.doubtnut.com/l/_nMaSFwe5nPR9


Watch Video Solution

7. The area of the region bounded by the parabola

, the X-axis, x=0 and x=2 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 4x − x2

8

3

16

3

16 − √2

3

8 + √2

3

https://dl.doubtnut.com/l/_nMaSFwe5nPR9
https://dl.doubtnut.com/l/_lqAhWhE8VlSy
https://dl.doubtnut.com/l/_ceAlKHlK1IAH


8. The area under y=2x+sinx between y=0, x=0 and

x=  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

+ 1
π2

4

π2

4

− 1
π2

4

+ 1
π2

3

https://dl.doubtnut.com/l/_ceAlKHlK1IAH


9. Find the area bounded by the curve  , x-

axis and the ordinates x=0 and x=h.

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

y = xex
2

ex
2

+ 1
2

ex
2

− 1
2

(ca
2

+ 1)

(xa2
− 1)

https://dl.doubtnut.com/l/_Pxas1M7rSWph


10. Area enclosed by the curve , the X-

axis and the lines  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = sin2 x

x = 0, x = π/2

π

2

π

4

π

8

π

https://dl.doubtnut.com/l/_JrXgg4FR3ztd


Critical Thinking

11. The area in square units of the region bounded

by the curve , the line x=2 and the x-axis, is

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 = 4y

2

3

4
3

8

3

https://dl.doubtnut.com/l/_iCQc1lhUEp84


1. The area bounded by the parabola

 is

A. 3 sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

y = 4x2, x = 0 and y = 1, y = 4

7
5

7
3

8

3

https://dl.doubtnut.com/l/_A0LYULhTvCTf


2. The area of the region bounded by

 and the Y-axis in the

first quadrant is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = y − 2, y = 4, y = 6

2

3

(8 − √2)
2

3

(8 − 2√2)
2

3

(8 − √2)
3

2

https://dl.doubtnut.com/l/_VB8xYyBZ4aVL
https://dl.doubtnut.com/l/_j9EYWfiViehu


3. The area of the region bounded by

 and the X-axis in the first

quadrant is

A. 16

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4x, x = 0, x = 4

16

3

32

32

3

https://dl.doubtnut.com/l/_j9EYWfiViehu


4. The ratio of the areas between the curves

 and x-axis from 

to  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = cos x and y = cos 2x x = 0

x =
π

3

√2: 1

1: 1

1: 2

2: 1

https://dl.doubtnut.com/l/_vG9yaLDJKTt0
https://dl.doubtnut.com/l/_gLpAetS3BF39


5. The area of the region bounded by the curve

, X-axis and the lines 

, is

A. 16 log 2 - 13 sq. units

B. 16 log 2 - 3 sq. units

C. 16 log 2 + 3 sq. units

D. 16 log 2 - 10 sq. units

Answer: C

Watch Video Solution

xy − 3x − 2y − 10 = 0

x = 3, x = 4

https://dl.doubtnut.com/l/_gLpAetS3BF39


6. If the area bounded by , the

X-axis and x=1, x=3 is 20 sq. units, then the value of

k is

A. 2

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

y = 3x2 − 4x + k

https://dl.doubtnut.com/l/_heq3q6zhu0c1
https://dl.doubtnut.com/l/_YRQ8whR98rv3


7. Area between the curve  and x-

axis in square units , is

A. 

B. 

C. 

D. 125

Answer: A

Watch Video Solution

y = 4 + 3x − x2

125

6

125

3

125

2

https://dl.doubtnut.com/l/_YRQ8whR98rv3


8. The area of the region bounded by 

and Y-axis is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: D

Watch Video Solution

x = y2 − y

3

2

2

3

5

3

1

6

https://dl.doubtnut.com/l/_fcKL3kdUZ4Na


9. The area bounded by the parabola 

and X-axis is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

y = 4x − x2

30

7

31

7

32

3

34
3

https://dl.doubtnut.com/l/_Lt6S4YL5VsKx


10. The area bounded by the curve , X-

axis and ordinates x=1 and x=b is

, find .

A. 3(x-1)cos(3x+4)+sin(3x+4)

B. (b-1)sin(3x+4)+3cos(3x+4)

C. (b-1)cos(3x+4)+3sin(3x+4)

D. (x-1)sin(3x+4)+3cos(3x+4)

Answer: A

Watch Video Solution

y = f(x)

(b − 1)sin(3b + 4) f(x)

https://dl.doubtnut.com/l/_mP9SipAZ4rhd
https://dl.doubtnut.com/l/_ft1ukPcX6Ic1


11. Area enclosed between the curve

 and line  above X-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2(2a − x) = x3 x = 2a

πa2

3πa2

2

2πa2

3πa2

https://dl.doubtnut.com/l/_ft1ukPcX6Ic1


12. Area bounded by the parabola  and the

ordinates x=1, x=4 is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

y2 = 2x

4√2

3

28√2

3

56

3

4
3

https://dl.doubtnut.com/l/_9lchOwebmxdr


13. The area bounded by the curve  and

the line x=2 is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: A

Watch Video Solution

y2 = 8x

32

3

23

3

16

3

13

2

https://dl.doubtnut.com/l/_C7xCkXKEZxVc


14. Examples: Find the area bounded by the

parabola  and its latus rectum.

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

y2 = 4ax

a22

3

a24
3

a28

3

a23

8

https://dl.doubtnut.com/l/_RW3JyWZVvjOC


15. The area bounded by the curve  and

the Y-axis is

A. 16 sq. units

B. 32 sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

x = 4 − y2

32

3

16

3

https://dl.doubtnut.com/l/_HlLArdZqC3pG


16. The area enclosed by the parabola

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x2 − 1  and y = 1 − x2

1

3

2

3

4
3

8

3

https://dl.doubtnut.com/l/_fCyxnM8WSCQg


17. The area of the region bounded by the X-axis

and the curves defined by y=tan x, 

 is

A. 

B. 

C. 2log 2

D. 0

Answer: C

Watch Video Solution

( − ≤ x ≤ )
π

3

π

3

log √2

−log √2

https://dl.doubtnut.com/l/_IHJy8uWrNr9j
https://dl.doubtnut.com/l/_hqvBU3HrY8vT


18. The area of the region bounded by the curve

y=cosx, X-axis and the lines x=0, x=  is

A. 2

B. 4

C. 0

D. 3

Answer: B

Watch Video Solution

2π

https://dl.doubtnut.com/l/_hqvBU3HrY8vT


19. Find the area of the region bounded by the

curve  between .

A. 2 sq. units

B. 4 sq. units

C. 8 sq. units

D. 16 sq. units

Answer: B

Watch Video Solution

y = sinx x = 0 and x = 2π

https://dl.doubtnut.com/l/_ArReyPPwb4dI


20. The area of smaller part between the circle

 and the line x=1 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 4

− √3
4π
3

− √3
8π

3

+ √3
4π
3

+ √3
5π

3

https://dl.doubtnut.com/l/_EhkoTI0RvfwY


21. The area of the ellipse  is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: A

Watch Video Solution

+ = 1
x2

a2

y2

b2

πab

πab
1
2

πab
1

4

πab
1

3

https://dl.doubtnut.com/l/_oEJpDr1ridub


22. A tangent to the ellipse 

making equal intercepts on both the axes is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

16x2 + 9y2 = 144

8π

80π

20π

12π

https://dl.doubtnut.com/l/_JvhZy4C8UnVo


23. Find the area bounded by the curve ,

x-axis and ordinates  and .

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

y = x|x|

x = − 1 x = 1

1

3

2

3

https://dl.doubtnut.com/l/_jKoUV3fqp3uf


24. Find the area bounded by the curve

 x-axis and ordinate 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 3x + 2,

x = − 1 and x = 1.

13

3

7
3

13

2

7
2

https://dl.doubtnut.com/l/_ZwjWeJdwIdeQ
https://dl.doubtnut.com/l/_D7aTRvCA0yZz


25. Area lying in the first quadrant and bounded by

the circle  the line  and x-axis

, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4 x = √3y

π

2

π

4

π

3

π

https://dl.doubtnut.com/l/_D7aTRvCA0yZz


26. Area bounded by the lines

 and  is (A)  (B)  (C) 

(D) 

A. 3 sq. units

B. 4 sq. units

C. 8 sq. units

D. 16 sq. units

Answer: B

Watch Video Solution

y = 2 + x, y = 2 − x x = 2 3 4 8

16

https://dl.doubtnut.com/l/_mYDHhxeEkz74
https://dl.doubtnut.com/l/_j6jx3Auc6DLT


27. The area of the region bounded by y=7x+1,

y=5x+1 and x=3 is

A. 2 sq. units

B. 4 sq. units

C. 6 sq. units

D. 9 sq. units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_j6jx3Auc6DLT


28. For  the area bounded by 

and  is

A. 2

B. 4

C. 

D. 

Answer: A

Watch Video Solution

0 ≤ x ≤ π, y = x

y = x + sinx,

2π

4π

https://dl.doubtnut.com/l/_4IEpq2EWKfQ9


29. The area bounded by the curves 

and  is

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

y2 − x = 0

y − x2 = 0

7
3

1

3

5

3

https://dl.doubtnut.com/l/_OE5Y7bA5EJo0


30. Find the area included between the curves

 and .

A.  sq. units

B.  sq. units

C.  units

D.  sq. units

Answer: D

Watch Video Solution

x2 = 4y y2 = 4x

14
3

3

4

3

16

16

3

https://dl.doubtnut.com/l/_8ltSWYbmVuXo


31. If the area enclosed between the curves


is 
square unit, then

find the value of 

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = ax2andx = ay2(a > 0) 1

a.

1

√3

1

3

1

2

https://dl.doubtnut.com/l/_eyWrF83GeILi
https://dl.doubtnut.com/l/_IaR9tOifqc0C


32. Find the area bounded by the curve

A. 4 sq. units

B. 2 sq. units

C. 16 sq. units

D. 8 sq. units

Answer: A

Watch Video Solution

4y2 = 9x and 3x2 = 16y

https://dl.doubtnut.com/l/_IaR9tOifqc0C


33. The area common to the parabolas 

and  (in square units) is (A)  (B)  (C)

 (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 2x2

y = x2 + 4
2

3

3

2
32

3

3

32

32

3

26

3

2

3

3

2

https://dl.doubtnut.com/l/_A0ljZkFfGuhW
https://dl.doubtnut.com/l/_IMAOkHpbk1Gz


34. The area bounded by the curves

 is

A. 8

B. 6

C. 4

D. 10

Answer: A

Watch Video Solution

4y = x2  and 2y = 6 − x2

https://dl.doubtnut.com/l/_IMAOkHpbk1Gz


35. The area of the region bounded by the

parabola  and the line y=mx is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

8a2

3m3

8m2

3a3

8a2

3

8a2m3

3

https://dl.doubtnut.com/l/_4R2OP8UAj4Nm


36. The area bounded by the parabola 

and the line y=3x is

A. 4 sq. units

B. 18 sq. units

C. 24 sq. units

D. 32 sq. units

Answer: B

Watch Video Solution

x2 = 2y

https://dl.doubtnut.com/l/_j5SGcEAmop4k


37. Area enclosed between the curve  and

the line y = x is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: A

Watch Video Solution

y = x2

1

6

1

3

1

2

1

4

https://dl.doubtnut.com/l/_23AVvXBMQrPk


38. The area of the region bounded by parabola

 and the straight line 2y = x is

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

y2 = x

4
3

2

3

1

3

https://dl.doubtnut.com/l/_tA0kTzsdEO6B


39. The area enclosed between the curves 

and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x3

y = √x

5

3

5

4

5

12

12

5

https://dl.doubtnut.com/l/_dmzQCtbI0N7P


40. The area enclosed by the parabola

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x2 − 1  and y = 1 − x2

1

3

2

3

4
3

8

3

https://dl.doubtnut.com/l/_uFV66rQSlzhU


41. The area enclosed between the curves

 (in square units), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x and y = 2x − x2

1

2

1

6

1

3

1

4

https://dl.doubtnut.com/l/_Gp9e1O9pqDaH


42. Find the area bounded by the curve 

and the straight line 

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

x2 = 4y

x = 4y − 2.

8

9

9

8

4
3

3

4

https://dl.doubtnut.com/l/_GLhfe1BP7Ukv


43. If area bounded by the curve  and 

 is  , then the value of m, is

A. 2

B. 1

C. 

D. 0

Answer: A

Watch Video Solution

y2 = 4ax

y = mx a2 /3

1

2

https://dl.doubtnut.com/l/_bt2a4sMD1j7W


44. What is the area bounded by the curves

 and the straight line  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = ex, y = e−x x = 1

e +
1

e

e −
1

e

e + − 2
1

e

e + − 2
1

e

https://dl.doubtnut.com/l/_Om26Idi04teM


45. Compute the area of the figure bounded by the

straight lines 
 and the curves

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= 0, x = 2

y = 2x, y = 2x − x2.

−
4
3

1

log 2

+
3

log 2

4
3

− 1
4

log 2

−
3

log 2

4
3

https://dl.doubtnut.com/l/_lJ8DjNAbXJaR
https://dl.doubtnut.com/l/_0W1kJ9y6ARHV


46. The area bounded by the curves


 is


(b) 
 
(d) 

A. 3-e

B. e-3

C. 

D. 

Answer: A

Watch Video Solution

y = (log)exandy = ((log)ex)
2

e − 2sq
.
units

3 − esq
.
units esq

.
units e − 1sq

.
units

(3 − e)
1

2

(e − 3)
1

2

https://dl.doubtnut.com/l/_0W1kJ9y6ARHV


47. The area of the region bounded by 

and  is

A. 2

B. 1

C. 

D. 3

Answer: B

Watch Video Solution

y = |x − 1|

y = 1

1

2

https://dl.doubtnut.com/l/_WRI0tGRKw2bg


48. Find the area of the smaller region bounded by

the ellipse  and the line 

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

+ = 1
x2

9

y2

4

+ = 1
x

3

y

2

(π − 2)
1
2

(π − 2)
3
2

(π − 2)
5

4

(π − 2)
2

3

https://dl.doubtnut.com/l/_prEX42n7ZfI2


Competitive Thinking

1. The area enclosed by y = 3x - 5, y = 0, x = 3 and x =

5 is

A. 12 sq. units

B. 13 sq. units

C.  sq. units

D. 14 sq. units

Answer: D

Watch Video Solution

13
1

2

https://dl.doubtnut.com/l/_FSBDm2C2thvb


2. The area of the region bounded by the lines y =

mx, x = 1, x = 2 and X-axis is 6 sq units, then m is

equal to

A. 3

B. 1

C. 2

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bEJt0I59gekP
https://dl.doubtnut.com/l/_txXsv0tFx8yY


3. Area of the region bounded by rays 

and X-axis is

A. 

B. 2

C. 

D. 1

Answer: D

Watch Video Solution

|x| + y = 1

1

4

1

2

https://dl.doubtnut.com/l/_txXsv0tFx8yY


4. The area of the region bounded by the lines

y=2x+1y=3x+1 and x=4 is

A. 16 sq. units

B.  sq. units

C.  sq. units

D. 8 sq. units

Answer: D

Watch Video Solution

121

3

121

6

https://dl.doubtnut.com/l/_0ima2uhZhES9


5. Find the area bounded by the line , the x-

axis and the ordinates  and 

A. 

B. 

C. 2

D. 3

Answer: B

Watch Video Solution

y = x

x = − 1 x = 2

3

2

5

2

https://dl.doubtnut.com/l/_YQihnk3tdybC


6. The area of the region bounded by the curve

 , and the lines , y=8 and x=0, is

A. 16

B. 8

C. 10

D. 12

Answer: D

Watch Video Solution

y = x3

https://dl.doubtnut.com/l/_eFvL3z1Cj6KM


7. The area of the region bounded by the curve

 and the X-axis is

A. 4

B. 2

C. 3

D. 1

Answer: D

Watch Video Solution

y = |x − 2|, x = 1, x = 3

https://dl.doubtnut.com/l/_TZ2pJEQXm00N


8. The area enclosed between the curve

 and the coordinate axes is

A. 3 sq. units

B. 4 sq. units

C. 1 sq. units

D. 2 sq. units

Answer: C

Watch Video Solution

y = loge(x + e)

https://dl.doubtnut.com/l/_cXEG8rjkMRYx


9. Find by integration the area of the region

bounded by the curve  and the x-axis.

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

Watch Video Solution

y = 2x − x2

2

3

4
3

5

3

8

3

https://dl.doubtnut.com/l/_2sSwRo01Vmpu


10. The area (in sq. units) of the region bounded by

the X-axis and the curve  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 1 − x − 6x2

125

216

125

512

25

216

25

512

https://dl.doubtnut.com/l/_vU72hg0LsXOn


11. The area bounded by the curves

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = − x2 + 3  and y = 0

√3 + 1

√3

4√3

5√3

https://dl.doubtnut.com/l/_vlekDqrbBjfb


12. If A is the area of the region bounded by the

curve  x axis and the line 

 is that area bounded

by curve  x- axis and the lines 

 then  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y = √3x + 4,

x = − 1 and x = 4 and B

y2 = 3x + 4,

x = − 1 and x = 4 A :B

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_DRYq8Ff55ycu


Watch Video Solution

13. The area bounded by the x-axis, the curve


 and the lines 
 is equal to 


for all 
then 
is


(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: C

y = f(x), x = 1, x = b

√b2 + 1 − √2 b > 1, f(x) √x − 1

√x + 1 √x2 + 1
x

√1 + x2

√x − 1

√x + 1

√x2 + 1

x

√1 + x2

https://dl.doubtnut.com/l/_DRYq8Ff55ycu
https://dl.doubtnut.com/l/_BIrl6TQN0qrx


Watch Video Solution

14. Let 
 be a non-negative continuous

function such that the area bounded by the
curve


 the x-axis, and the ordinates

Then 
 is
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

f(x)

y = f(x),

x = andx = β > isβ sinβ + cos β + √2β.
π

4

π

4

π

4

f ′( )
π

2
( − √2 − 1)
π

2

( + √2 − 1)
π

4
−

π

2
(1 − − √2)

π

4

1 − + √2
π

4

1 − − √2
π

4

− √2 + 1
π

4

+ √2 − 1
π

4

https://dl.doubtnut.com/l/_BIrl6TQN0qrx
https://dl.doubtnut.com/l/_CM9zgRYQG6Wy


Answer: A

Watch Video Solution

15. Find the area bounded by the x-axis, part of the

curve 
 , and the ordinates at 


 If the ordinate at 
divides

the area into two equal parts, then find 

A. 8

B. 

C. 2

y = (1 − )
8

x2

x = 2andx = 4. x = a

a.

2√2

https://dl.doubtnut.com/l/_CM9zgRYQG6Wy
https://dl.doubtnut.com/l/_P8ejXORszv8l


D. 

Answer: B

Watch Video Solution

√2

16. If a curve  passes through the

point (1,2) and the area bounded by the curve, line

x = 4 and X-axis is 8 sq units, then

A. a=3, b=-1

B. a=3, b=1

C. a=-3, b=1

y = a√x + bx

https://dl.doubtnut.com/l/_P8ejXORszv8l
https://dl.doubtnut.com/l/_Ez2HuzH1EK7D


D. a=-3, b=-1

Answer: A

Watch Video Solution

17. Let 
 be a continuous function

such that 

Let 
 and 
 be the area of

the region bounded by


 and the 
 .

Then
 
(b) 
 
(d) 

f : [ − 1, 2]
−−−→
0, ∞

f(x) = f(1 − x)f or allx ∈ [ − 1, 2].

R1 = ∫
2

− 1
xf(x)dx, R2

y = f(x), x = − 1, x = 2, x − aξs

R1 = 2R2 R1 = 3R2 2R1 3R1 = R2

https://dl.doubtnut.com/l/_Ez2HuzH1EK7D
https://dl.doubtnut.com/l/_vnA3MB3pMEFQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R1 − 2R2

R1 = 3R2

2R1 = R2

3R1 = R2

18. Area of the region bounded by

 X-axis is . . .sq.

units.

y = cos x, x = 0, x = π and

https://dl.doubtnut.com/l/_vnA3MB3pMEFQ
https://dl.doubtnut.com/l/_86FkqYFyWm5a


A. 1 sq. unit

B. 4 sq. units

C. 2 sq. units

D. 3 sq. units

Answer: C

Watch Video Solution

19. The area bounded by the curve

, X axis and the line 

 is

y = sin2 x, 0 ≤ x ≤
π

2

x =
π

2

https://dl.doubtnut.com/l/_86FkqYFyWm5a
https://dl.doubtnut.com/l/_tdPBv3mtcD6z


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

π

4

π

8

π

16

20. the area included between the curve

 and y -axis is -

A. 

xy2 = a2(a − x)

πa2

https://dl.doubtnut.com/l/_tdPBv3mtcD6z
https://dl.doubtnut.com/l/_537MznxSQYnS


B. 

C. 

D. 

Answer: A

Watch Video Solution

2πa2

3πa2

4πa2

21. The area of the region bounded by

 the Y-axis lying in the

first quadrant is . . . . . . Square units.

A. 

x2 = 4y, y = 1, y = 4 and

22

3

https://dl.doubtnut.com/l/_537MznxSQYnS
https://dl.doubtnut.com/l/_EUgXLXIgOWYH


B. 

C. 30

D. 

Answer: B

Watch Video Solution

28

3

21

4

22. Find the area enclosed by the curves

A. 

B. 

x2 = y, y = x + 2, and xaξs

5

6

5

4

https://dl.doubtnut.com/l/_EUgXLXIgOWYH
https://dl.doubtnut.com/l/_CFf8rZhVW00P


C. 

D. None of these

Answer: A

Watch Video Solution

5

2

23. The area (in sqaure units) of the region

enclosed by the curves  and

the positive x-axis is

A.  sq. units

B. 1 sq. unit

y = x, x = 2, y =
1

x

1

2

https://dl.doubtnut.com/l/_CFf8rZhVW00P
https://dl.doubtnut.com/l/_Nyo0RdqPFI1B


C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

3

2

5

2

24. Area bounded between two latus-rectum of the

ellipse  is ______. 


(where, e is eccentricity of the ellipse)

A. 

B. 

+ = 1, a > b
x2

a2

y2

b2

2b(be + a sin− 1
e)

8b(be + a sin− 1
e)

https://dl.doubtnut.com/l/_Nyo0RdqPFI1B
https://dl.doubtnut.com/l/_CP6kYdyPT4KT


C. 

D. 

Answer: A

View Text Solution

b(be + a sin− 1 e)

4b(be + a sin− 1 e)

25. The area formed by triangular shaped region

bounded by the curves  and 

 is (A)  (B)  (C)  (D) 

A. 

B. 1

y = sinx, y = cos x

x = 0 √2 − 1 1 √2 1 + √2

√2 − 1

https://dl.doubtnut.com/l/_CP6kYdyPT4KT
https://dl.doubtnut.com/l/_Q2swivDUc0oe


C. 

D. 

Answer: A

Watch Video Solution

√2

1 + √2

26. Find the area of the region included between

the
 parabolas

A.  sq. units

B.  sq. units

y2 = 4axandx2 = 4ay, wherea > 0.

a232

3

16

3

https://dl.doubtnut.com/l/_Q2swivDUc0oe
https://dl.doubtnut.com/l/_7PegxgjJUmzu


C.  sq. units

D.  sq. units

Answer: D

Watch Video Solution

32

3

a216

3

27. The area of the region bounded by the curves

 is

A. 

B. 

C. 

y = x2  and x = y2

1

3

1

2

1

4

https://dl.doubtnut.com/l/_7PegxgjJUmzu
https://dl.doubtnut.com/l/_pL9pEvCOtXfD


D. 3

Answer: A

Watch Video Solution

28. Find the area of the figure bounded by the

parabolas 

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

x = − 2y2, x = 1 − 3y2.

4
3

2

3

3

7

6

7

https://dl.doubtnut.com/l/_pL9pEvCOtXfD
https://dl.doubtnut.com/l/_zf3PdCKSq21X


Answer: A

Watch Video Solution

29. What is the area bounded by the curve 

and the line  ?

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: B

y = x2

y = 16

32

3

256

3

64
3

128

3

https://dl.doubtnut.com/l/_zf3PdCKSq21X
https://dl.doubtnut.com/l/_i1csNvm8TYMr


Watch Video Solution

30. Find the area bounded by the parabola

 and the line .

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

y2 = 4ax y = 2ax

a2

3

1

3a2

1

3a

2

3a

https://dl.doubtnut.com/l/_i1csNvm8TYMr
https://dl.doubtnut.com/l/_WfhMDhLP5BhP


31. Area lying between the curves  and y=x

is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

y2 = 2x

1

3

3

4

2

3

1

4

https://dl.doubtnut.com/l/_WfhMDhLP5BhP
https://dl.doubtnut.com/l/_JsEYOTJjqpPq


32. The area of the region bounded by the curves

 and x=y is

A. 

B. 9

C. 

D. 

Answer: C

Watch Video Solution

x = y2 − 2

9

4

9

2

9

7

https://dl.doubtnut.com/l/_Bwfm3a4dIaTR


33. If the area enclosed between the curves


is 
square unit, then

find the value of 

A. 3

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = ax2andx = ay2(a > 0) 1

a.

1

3

1

2

1

√3

https://dl.doubtnut.com/l/_9niEkpmNDV7g
https://dl.doubtnut.com/l/_HwqRVNu04FVC


34. Find the ratio in which the area bounded by

the curves 
 is divided by

the line 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y2 = 12xandx2 = 12y

x = 3.

15: 49

13: 48

12: 37

https://dl.doubtnut.com/l/_HwqRVNu04FVC


35. The parabolas  divide

the square region bounded by the lines x=4, y=4

and the coordinate axes. If  are the areas

of these parts numbered from top to bottom,

respectively, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x and x2 = 4y

S1, S2, S3

2: 1: 2

1: 1: 1

1: 2: 1

1: 2: 3

https://dl.doubtnut.com/l/_QJz8yog4oXqZ


Watch Video Solution

36. The area bounded by the curves


 and x-axis in the 1st

quadrant is

A. 9

B. 

C. 36

D. 18

Answer: A

Watch Video Solution

y = √x, 2y + 3 = x,

27
4

https://dl.doubtnut.com/l/_QJz8yog4oXqZ
https://dl.doubtnut.com/l/_KCgtKz6LmxPG


37. Let the straight line x= b divide the area

enclosed by 

into two parts

 such that 

 Then b equals

A. 

B. 

C. 

D. 

Answer: B

y = (1 − x)2, y = 0, and x = 0

R1(0 ≤ x ≤ b) and R2(b ≤ x ≤ 1)

R1 − R2 = .
1

4

3

4

1

2

1

3

1

4

https://dl.doubtnut.com/l/_KCgtKz6LmxPG
https://dl.doubtnut.com/l/_RUoPJLwbiiSe


Watch Video Solution

38. The area of the region bounded by the curve

, its tangent at (1, 1) and x-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x3

1

12

1

6

2

17

2

15

https://dl.doubtnut.com/l/_RUoPJLwbiiSe
https://dl.doubtnut.com/l/_12UwnPfgHHNJ


39. The area (in sq. units) enclosed between the

curves  is

A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

y = x2  and y = |x|

2

3

1

6

1

3

https://dl.doubtnut.com/l/_FC289H4AZGS1


40. Area of the region bounded by

 is

A. 4 sq. units

B. 3 sq. units

C. 2 sq. units

D. 1 sq. units

Answer: C

Watch Video Solution

y = |x| and y = − |x| + 2

https://dl.doubtnut.com/l/_H37IGXOZ34Dq


41. The area of the region bounded by the curves

 is-

A. 6 sq. units

B. 2 sq. units

C. 3 sq. units

D. 4 sq. units

Answer: D

Watch Video Solution

y = |x − 1| and y = 3 − |x|

https://dl.doubtnut.com/l/_eR4amsxJIpLq


42. The area bounded by curve

 in square units is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

y = x2, y =
2

(1 + x2)

π

(π − )
2

3

(π − )
1

3

(π + )
1

3

https://dl.doubtnut.com/l/_Qyq6MSXy3fI7


43. Find the area included between the parabola

 and the curve .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y =
x2

4a
y =

8a3

x2 + 4a2

a2(2π + )
2

3

a2(2π − )
8

3

a2(π + )
4
3

a2(2π − )
4
3

https://dl.doubtnut.com/l/_qBVC0HRQljEP


44. The area of the region

 , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{(x, y) : x2 + y2 ≤ 1 ≤ x + y}

π2

5

π2

2

π2

3

−
π

4

1

2

https://dl.doubtnut.com/l/_Ty9U3t7bYmcr


45. The area (in sq. units) of the region 

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{(x, y) : y2 ≤ 2x and x2 + y2 ≤ 4x, x ≥ 0, y ≤ 0},

π −
8

3

π −
4√2

3

−
π

2

2√2

3

π −
4
3

https://dl.doubtnut.com/l/_b3Xm25PgwC8y
https://dl.doubtnut.com/l/_EQ6o9ZWNlDUF


46. Area above the X-axis, bounded by the circle

 and the parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2ax = 0 y2 = ax

8πa2

a2( − )
π

4

2

3

16πa2

9

π( + 3a2)
27
8

https://dl.doubtnut.com/l/_EQ6o9ZWNlDUF


47. The area of the region described by

 and  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {(x, y) : x2 + y2 ≤ 1 y2 ≤ 1 − x}

−
π

4

2

3

+
π

2

2

3

+
π

2

π

3

−
π

2
4
3

https://dl.doubtnut.com/l/_EpENSKwLGyvw


48. The area (in sq units) of the region described

by  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

{(x, y) : y2 ≤ 2x and y ≥ 4x − 1}

7
32

5

64

15

64

9

32

https://dl.doubtnut.com/l/_mbg3gX3zJ8Jd


49. The area enclosed (in square units) by the

curve , the X-axis and the vertical lines

passes through the two minimum points of the

curve is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x4 − x2

48√2

5

5

48√2

7

60√2

7

30√2

https://dl.doubtnut.com/l/_PGx1WGIQ1qKE


Evaluation Test

1. The area bounded by the curve , X axis

and the lines  is

A. 2 sq. units

B. 1 sq. unit

C. π^2 sq. units

D. None of these

Answer: C

Watch Video Solution

y = |x|

x = − π  and x = π

https://dl.doubtnut.com/l/_vSCHtbFmrXMu


2. Find the area bounded by the curve 

and the line 

A. 2 sq. units

B. 4 sq. units

C. 8 sq. units

D. 16 sq. units

Answer: A

Watch Video Solution

y = sin− 1 x

x = 0, |y| = .
π

2

https://dl.doubtnut.com/l/_ZTlmVS99H1NS


3. Using integration find area of the region

bounded by the curves  and 

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: C

Watch Video Solution

y = √5 − x2

y = |x − 1|

( + )
5π

4

1

2

( + )
3π

4

1

2

( − )
5π

4

1

2

( − )
3π

4

1

2

https://dl.doubtnut.com/l/_rkuN9WJokIUp
https://dl.doubtnut.com/l/_kM5LRuIAZ3wY


4. The area bounded by the curves y = |x| - 1 and

 is equal to

A. 1

B. 2

C. 

D. 4

Answer: B

Watch Video Solution

y = − |x| + 1

2√2

https://dl.doubtnut.com/l/_kM5LRuIAZ3wY


5. Find the area of the region formed by

.  and .

A.  sq. unit

B.  sq. unit

C.  sq. unit

D. None of these

Answer: C

Watch Video Solution

x2 + y2 − 6x − 4y + 12 ≤ 0 y ≤ x x ≤
5

2

( − )
π

6

√3 + 1

8

( + )
π

6

√3 + 1

8

( − )
π

6

√3 − 1

8

https://dl.doubtnut.com/l/_NslKpYeFFWz5


6. The area bounded by the curve 

and the line y = - x is

A. 

B. 

C. 

D. 9

Answer: B

Watch Video Solution

y = 2x − x2

2

3

9

2

1

2

https://dl.doubtnut.com/l/_hRILQ4AIUymy


7. The area bounded by y=cosx, y=0 and  is

given by

A. sin 1 sq. unit

B. 2 sin sq. unit

C. 4 sin sq. unit

D. None of these

Answer: B

Watch Video Solution

|x| = 1

https://dl.doubtnut.com/l/_ggclpvL6YIx8


8. The area bounded by the curves y = cos x and y =

sin x between the ordinates x = 0 and , is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: D

Watch Video Solution

x =
3π

2

(4√2 − 1)

(√2 − 1)

(4√2 + 2)

(4√2 − 2)

https://dl.doubtnut.com/l/_KllgOuBHHUFv


9. The area of the region bounded by the parabola

 and the lines y = x, x = 0 and x = 3 is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: A

Watch Video Solution

y = x2 + 2

21

3

17
2

27
2

9

2

https://dl.doubtnut.com/l/_8lXjF8cbEvmH


10. The area bounded by the curve 

and Y-axis is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: C

Watch Video Solution

x = 2 − y − y2

5

2

7
2

9

2

11

2

https://dl.doubtnut.com/l/_Urm8ensNQS7I


11. The area of the region bounded by the curves

 and the lines x = 1 and y = 4a, is

A.  sq. units

B.  sq. units

C.  sq. units

D.  sq. units

Answer: D

Watch Video Solution

y2 = 4a2(x − 1)

21a

2

16

3

17a
3

16a

3

https://dl.doubtnut.com/l/_aDnKIdeVphRe


12. Find the area of the region bounded by the

curves  and .

A.  sq. units

B.  sq. units

C. 2 sq. units

D.  sq. units

Answer: A

Watch Video Solution

y2 = x + 1 y2 = − x + 1

8

3

4
3

16

3

https://dl.doubtnut.com/l/_3I6KNEvmLSkc


13. The area of the closed figure bounded by

, and the

tangent to the curve  at A(1,3) is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: C

Watch Video Solution

x = − 1, y = 0, y = x2 + x + 1

y = x2 + x + 1

6

7

16

17

7
6

17
16

https://dl.doubtnut.com/l/_ELm2ZkCa98iL
https://dl.doubtnut.com/l/_DuzyUeT4nQOp


14. The area of the region bounded by the curves

 is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D. None of these

Answer: A

View Text Solution

x2 + 4y2 = 4  and 4y2 = 3x

( + √3)
2π

3

1

2

( + )
3π

2

2

2√3

( + )
2π

5

1

2√5

https://dl.doubtnut.com/l/_DuzyUeT4nQOp


15. The slope of the tangent to a curve 

at  is  If the curve passes

through the point  then the area of the

region bounded by the curve, the x-axis and the

line  is (A)  (B)  (C)  (D) 

A.  sq. unit

B.  sq. unit

C.  sq. unit

D. 6 sq. unit

Answer: A

Watch Video Solution

y = f(x)

(x, f(x)) 2x + 1.

(1, 2)

x = 1
5

6

6

5

1

6
1

5

6

6

5

1

6

https://dl.doubtnut.com/l/_iDfaEre0prNF


Watch Video Solution

16. The area bounded by 

and X-axis is

A.  sq. unit

B.  sq. unit

C.  sq. unit

D.  sq. unit

Answer: D

Watch Video Solution

y = sin− 1 x, x =
1

√2

( + 1)
1

√2

(1 − )
1

√2

π

4√2

( + − 1)
π

4√2

1

√2

https://dl.doubtnut.com/l/_iDfaEre0prNF
https://dl.doubtnut.com/l/_rYH1BDC9r2Gw


17. The area of the region bounded by the

parabola , the tangent to the

parabola at the point  and the x-axis is

A. 4 sq. units

B. 6 sq. units

C. 9 sq. units

D. 12 sq. units

Answer: C

Watch Video Solution

(y − 2)2 = x − 1

(2, 3)

https://dl.doubtnut.com/l/_9tfsBvH171Jx
https://dl.doubtnut.com/l/_wClvaEmaqYAK


18. The area of the region bounded by the curves

 and  bounded

by the lines x=0 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution
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